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all questions

is managerial econornics'l Why decisions havc alrvays alternatiles'l

fim's value is measured by its expectcd proiit" Explain this slatcncnt

is the law ol dernand, and what does il imply atrout the slope ol I
cuNe?
lhe possible determinanls ol denand for a product

suppl1,.

of pd!c el.Lslicit), ol

l'ime:03llodrs

(01 mark\)

({):1 marks)

(01 mitrks)

(03 rrrulks 1

('lbtal20 nlarks)

(05 marksJ

i05 milrkJ)

(05 marl(!)

(05 nar ksl
(l'otal 20 m,rrks)

(01 rnarksl

(04 marks)

and categorizc the pdce elasticity of derniud ard

are tl're factors thal likely detennine thc degrce
demand?

A demand lunctjon lor Sanrs ng stnart phone as fbllo$s:
Qs = 800 - 0.03Ps + 0.002Px -09Pe1- 0.0151 + 0.003A.
where

Qs = quantity denlanded
Ps= the average price of Sarnsung
PN= fie average price ofNokia
PM = the pdce ofnemory card
I= Per capita income
A = dollars spent annuallJ, on advefiiscment by Sirnsung oonrpany

lnterpret each co n|orret l of llr( dcmdnd tur.Li-r.

Find the point price elastjcit), of demand firr SamsLrng if Ps -- S 25,000
PN=$20,000. PM=$ 5.00, i-$15,000,.ud A =$10.00{!.and inri'rpr.ct yoLrr ans\!er

Find rhe Arc Lr.:( crlsli( ) or ner.dnd tur S.,nrr ',! r . \,.1.i:r rr pr
$2).000.'n llolller fi, ureierccjL 11 rcn-,rn rl,c.."ne r,lrT.r.Ih,, ,

Get the income a|d allve isenlent elasticitv coelllcicnts and inlelprct them
when the Ps= $ 25000.



J, (i) Explain conlroliable a d unconh.ollable facrors ol.dcmud ot.a prodLrct?

(ii) Write down a multiple non-linear demand function anrl inler_pret
component.

(iii) Briefly explain tire measures ofgoodness offit in regression analysis

(iv) Consider the ibllowing regression results 1br a Video game dcnand

lnpvq lnp. I nya lna

ss dl

(01mr

each

(a)

(b)

(c)

(d)

195% conf. rrt€rvarl

,141235308 4.015303327
,004?61424 4 .001190356

.147996733 8 _018499592

Nunber of obs : 9F( 4, a) = ro.o8
Prorr > F - 0.0010R-squa.ed - 0.9673
Adj R-raunred = 0.9152_ . c:1.15

1.99165!
1.516931

7,567227

,,r'9648
.94 /6282

.1126265

.3140951

.37675A4

.3398323

.2094949

-2,50
2.57
1.69

2.16

0.066
0.066

0.619
0,073

-L,679654
_0931987

-.3/0a727

Where,
qvg: Quantity demanded per yeat ofthe games
pvg= ihe price ofthe gallles
pc= dre pdce olthe competing gane
la: Annual family income
i- MonthJy Advertising expenditurc
//? indjcatcs logartthm lbrm ot rariable.

Interpret each coelficient ofrhe variables given in the results

lsing,-ralrre.hortnn\oLjusrit\ rhe,igr ifiq3n... l.,r.r .,t,.aclrcoc.r;,i.r,
l-uDre gt\cn)

Which v:riable could be neglecrecl by the firm,i Why?

What message does R-squarcd give for thc fiE?

e'

4. (i) What is the eiasticity ofproducrioD?

(ii\ Lrp.ain how rhe qen.qpl uf rhe cla.ricirl rt prudr.(r.,,.r lr.llrs .r r..n, ;nshon_ ru4 {!rse grrph o. hlporlrericrr 
"q,,u,l,,nry. 

-_'' i ii!i'J .

(lii) A shofi-run production funchon is given as lollo\\,s:
Q =10L - 0.5L1



and average production funolions 1br lhc conpan)'

the level of output when the labor lcvels are 5. 10 and 15

(02 marl(s)

(04 nlarks)

and interpret the elasticity of ploduction for

product is at maximull] Level, and also fincl tl'te

elastigity

y {irm

of prcduction for labour input is equal to one

(0,1 marks)

*hereas (0rl marks)

(Total 20 marks)

(02 marlis)

(01 marks)

(04 marks)

(02 marks)

(03 marks)

(01 rnarks)

(01 rralks)
( fotlll 20 marks)

Labour irput whelr'as

level of oLttplrl rt thaL

A?r.

total lixsd costs, total vadable costs, average variable costs ard avera!',e

sts

explain how a firm can get advantage if it has economles of scale

is learning cwve? How far a learning curve can be al indjcator to

ify productivity of a firm?
ropolistic fum has lhe foilowing demand curve and short-run total cost

2,000 - :4P

= 500 + 8Q + 0.0t5Q2

ve total revenue function ior the firm

will be its profit-ma\imizing p ce and output?

much profit will it have at the preceding outpul?

your answers obtained ior (b) and (c) in a appropriate graph for the


